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_ BER I BHEN | RE mmmmmmm
RS 0.1013 0 0.0313| —0.07 EJE 0.090 0.360 0.810 1.440 2.250 4411 9.002 | 20.254| 36.007
B 0.1013 0 0.0413| —0.06 | =& 0.090 0.360 0.810 1.440 2.250 4411 9.002 | 20.254| 36.007

R 0.1013 0 0.0513|—0.05| && 0.090 0.360 0.810 1.440 2.250 4411 9.002 | 20.254| 36.007

ﬁ E_.:}i 0.1013 0 0.0613| —0.04 | =& | 0.088 0.352 0.792 1.408 2.200 4312 8.800 | 19.801| 35.202
P 0.1013| O |00713|-003| T=% | 0082 | 0329 | 0.740 | 1.315 | 2.055| 4.028| 8.220| 18.494| 32878
fégﬁ 0.1013 0 0.0813| —0.02 & | 0.072 0.287 0.645 1.147 1.792 3512 7.166 | 16.125| 28.666

;TU% 0.1013 0 0.0913|—0.01 | IE&E | 0.054 0.215 0.483 0.859 1.343 2.631 5370 | 12.083| 21.480
” 0.1113| 0.01 |0.1013 0 & | 0.057 0.226 0.509 0.905 1414 2.772 5.657 | 12.727| 22.626
SENEET 0.1213| 0.02 |0.1013 0 & | 0.080 0.320 0.720 1.280 2.000 3.920 8.000 | 15.679| 31.998
Emi e 0.1413| 0.04 |(0.1013 0 TEE | 0.113 0.453 1.018 1.810 2.828 5543 [ 11.313 | 17.999| 45.252

e | 8 0.1613| 0.06 |0.1013 0 & | 0.139 0.554 1.247 2217 3.464 B6.789 | 13.856 | 24.454| 55.423

ﬁ f”E 0.1813| 0.08 |0.1013 0 & | 0.160 0.640 1.440 2.560 4.000 7.840 | 15.999 | 31.175| 63.996
s ®[o2013] 01 |01013] o0 | m=® | 0179 | 0716 | 1610 | 2862 | 4472| 8765 17.888 | 35998 71552
BEEHR é 0.3013| 0.2 |0.1013 0 iR 0.268 1.071 2410 4.284 6.694 | 13.119 | 26.774 | 60.242|107.096

T SR | ~l04013| 0.3 |0.1013 0 BiE 0.357 1.426 3.209 5.706 8915 | 17.474 | 35.660 | 80.236|142.641
ENFR 05013| 04 |0.1013 0 iR 0.445 1.782 4.009 7.127 | 11.137 | 21.828 | 44.547 |100.230|178.186

0.6013| 0.5 |0.1013 0 BiE 0.534 2.137 4.809 8549 | 13.3568 | 26.182 | 53.433 |120.224|213.731
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FRL RFRIEE G
FR ST = ~ ~,
B tREmitESE
R
L MEAFREERE, FRFHRENITE.
2RIk
PER
M Q=vx—_ 2P 60
_ ERFER 1.013%x10° T
REHLR
. Q: REML/min)  AP: EZ(Pa) V: I##MRHAR(mML)  T: i&lEE(s)
i
murr B WFREBARNS00MLAIH, KRURESHRLE20PaEEN RS
FER 20 60
HEFR Q=500Xm X ? =~ 1.18(mL/min)
e =34
FRL
ZIFRL
X FSASRSHEREZ L
Eh&
INEFRL TFREBALE, BERATSSEA#HTHRERERIASBIRE,
KAFRL B2, ZitEARIRIERIE-AHRH (Hagen Poiseuille) 52X SH, SFLABEE, EARENBHEE,
=R BERARENSIALF—EERTEILL.
H%F.R Q _ na 101.3%PI
SEEFR Qa nl (101.3+Pa/2) XPa
=R
_RER Qa : TTHRE(ML/S)
2R Ql KRR (mL/s)
EpELE na : E5%¥E/Pa-s)
F nl : BIERE(Pa-s)
Rk Pa : =SWIER kPa)
BEES Pl &IENRES (kPa)
L
e ® HERNK(Pa-sX 107)
SEBYT mE =S(na) k(nl) iz’ (n )
ﬁ 20C 0.0181 1.00 26
e 50C 0.0195 0.55 10
70C 0.0204 0.40 7
@ =5 (20C) MRIKH R ELL
SR Ttk nl. Pa-s =E Pa WKEH Pl|  QI/Qa
K 20T 0.001 0.4MPa 0.4MPa 0.006
KRR BTN 50C 0.01 0.4MPa 0.4MPa 0.0006
HIEHR 50C 0.01 0.4MPa 15MPa 0.02
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QL 0006, HKkEE Qa =
Qa

CKD

0.1

0.006

= 16.7 (mL/min)






